
Sound Box & Manifold



Sound Box & Manifold
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1108783 Tubing, Braided (1/2 x 23") 1 11
1108784 Tubing, Braided (1/2 x 20-1/4") 1 12
1101141 Kit, 4-Way Valve w/ Screws 1 13
2001682 Tie Wrap (8" L)  1 54

1136945-NLA NLA - Tech Only - Muffler/Y-Tube Assembly 1 15
2001765 Harness, Horn/Alarm 1 16

1125477-NLA NLA - Tech Only - Bracket, Soundbox 1 17
See Note See Footnote 1 18 C
1106675 Coupling, Inlet Filter 1 19
1108810 Screw, Hi-Lo Six Lobe Drive (#10-16 x 5/8") 1 710
1141964 Kit, Fan Mounting Hardware 1 111 A

Grommet, Isolator w/ Spacer 4 1
Washer (#10) 4 1
NLA - Screw, Phillips Pan Head (10-24 x 3/4") 4 1

1141835 Kit, Capacitor 10 MFD 1 112 B
NLA - Tech Only - Capacitor, 10 MFD 1 1
Clamp, Cap 1 1
Screw, Phillips Pan Head (8-32 x 1/2") 1 1
Washer, Flat (#8) 1 1
NLA - Nut, Keps (#6-32) 1 1
NLA - Boot, Terminal 1 1
Tie Wrap (3-29/32" L) 1 1
Screw, Phillips Hex Washer Head (#8-32 x 3/8") 1 1
Tie Wrap (8" L)  1 2

P0875X560-NLA NLA - Boot, Terminal 1 113
1112561 Tube, Compressor 1 114
1108817 Heat Exchanger Assembly 1 115
2000799 Adapter with Tubing for Humidifier Bottle 1 116
1131249 Filter, Inlet Sound Reduced 1 117
2000812 Seal, Foam 1 218
1128404 Screw, Phillips Hex Washer Head (#8-32 x 3/8") 1 419
1115183 Partition Assembly 1 120

A - Includes (4) Isolator Grommets, (4) Washers and (4) Screws.  
B - Includes (1) Capacitor w/mounting Hardware, Tie Wraps and Boot.  
C - Part number is no longer serviceable in the field.  

NOTE:

 


